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Ql: Let A(3,0,1), B(0,4.2), €(5,1,~1) and D(=1,2,5) be fou in space.
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Q2: (4 marks) Find an equatlon of the sEhere that has center €(1,0, —1) and touch the
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Q4: (3 marks) Find the intersection point between the line L: x—2 =22
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and the plane‘ 2x -3y +4z=5 }
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Q5: {4 marks) Find the distance between the two skew lines # 'g =9
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Q6: (3 marks)If @ and b are two vectors suchthat @.b = —1 ld] =2 and
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Q7:(a) (3 marks) Describe and sketch the region 4 < x2 '+ z2 < 16.
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(b) (2 marks) Identify-and sketch the graph of x2 + y2(—Ax — 2y(Ck? + 4z = 0.
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Q8: (4 marks) Find an equation of the plane containing the point p(2,0,3) and is
perpendicular to the planes 2x —y+z=1and x+y — 2;2 =3 -
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Q5) (3-|-—2 marks) a) Find th¢ equation of the tangent plane to the surface .
- zy? + 23 = 12cos(zyz) at the point (3,2,0). ' _ , K N
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QT7) (6 marks) Find and classify the critical points for the function f(z,y) =
2y — y* — 222 + 3y. - -
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